Answer on Question #62302 — Math — Algebra
Question
A 120z cup of regular coffee at Starbucks has 13 times the amount of caffeine found
in the same-sized serving of decaffeinated coffee. Together they contain 280mg of
caffeine. How much caffeine is in each type of coffee?
Solution
Let x mg be the amount of caffeine found in the cup of decaffeinated coffee.

Then (13x) mg is the amount of caffeine found in the cup of regular coffee.
Together they contain (x + 13x) mg of caffeine, that is,

x + 13x = 280;
14x = 280;
_ 280,
14
x = 20.

A 120z cup of decaffeinated coffee has 20 mg of caffeine.
A 120z cup of regular coffee has 20*13=260 mg of caffeine.

Answer: 260 mg; 20 mg.
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